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B2 Z9i( 2 )e( 3 )ICARBDICHLIE LA ATIIROILE R,

@ ( 2 ): right half (3 ): rightleg

@ ( 2 ): left half ( 3 ): right hand
@ ( 2 ): left half ( 3 ): leftleg

@ ( 2 ): right half ( 3 ): both hands

I3 Tl (4) ORI EL THeb il 42O DI BE A,

@ You can’t see neurons with the naked eyes because they are very thin
@ Nerves are not so thick for your eyes as to see with a microscope
@ Nerves are so thin that humans are unable to see them with the naked eyes

@ Neurons are thick enough for the human eye to see without a microscope

4 TS G) 2R T bl Thbil % /0 DIER DI HE A,

@ the neurons in your brain make new connections
@ how you learn to do things

@ thinking about the same thing again

@ to play the guitar every day

M5 20 ( 6 )ICANDOIELIESAHLOIZKOIHE N,

1 and your senses don’t keep working
@ but only your senses stop working
@ and your senses don’t stop either

@ but your senses remain to be used

6 ZEi( 7 )ICANSOIELIESALOIKROIHE D, [ 6]

@ grow up
@ slow down
@ speed up
@ turn down
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D distribution

@ indifferences
@ imbalances

@ equalities

B2 Z( 2 )ICANBOICELIE ML DIIKDOIBE N,
@ exactly one-third

@ almost twice
@ about three times

@ just the same
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D rural
@ urban
@ residential

@ industrial
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i1 Sincel been to his new office, 'm not sure if I can get there by myself.

D had not @ have never @ may have @ won’t have

12 My brother is looking forward at university in France during the

summer vacation.

@ to study @ to studying @ studying @ studied

13 You must study math much harder, you won't pass the exam.
@ or @ and Q but @ so

14 That man talking with Mr. Tanaka is the one I will go to India next
month.

D in @ by ® from @ with

15 There no vacant seat in the train, I kept standing all the way to
Osaka.

D was @ to be @ being @ has been

fi1 6 Probably, the people in this town have seen that basketball player
somewhere.

D almost all @ most @ almost @ as much

il 7 Our teacher got angry to catch some students in class.

@ to sleep @ slept @ sleeping @ having slept

i 8 Dad is the person I want to see when I'm with my boyfriend.
D less @ least Q latest @ last

19 You should always do you believe is the best for you.
D that @ what @ which @ whoever

fif 10 The situation didn’t get they had expected.

D more than @ so much as @ as good as @ as well as
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In recent years, social media has many

people.

D chances @ the @ meeting @ of ® increased

12 4hi3E R RN E > TEI T —F 2 B X TLESTZITEVR,
My sister must yesterday.

@ bought @ the cake Q) eaten @ have 61

B3 ZDLMETimy AR REDNI-L ST,
The woman said she had on the street.

@ purse @ robbed ® been @ her ® of

M4 ZOE— UIRAYEDRY T DBIELITNET,
This beer is Germany.

@ grown @ made @ hops @ from ® in

5 FIZHITAWVIKEFFHEARNEDELDIZEDRRIE T 1L TD,

We with each other.

D alot @ communicating @ time and energy @ of 6 spend
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11 A: Now, I make it a rule to go for a jog after school.
B: What do you mean?

A:[38 ]

B: I see. I should get some exercise, too.

D I mean I can’t follow the rule.
@ Actually, I don’t know what you mean.
@ Well, I try to do some jogging every evening.

@ I don’t have to become a jogger, I mean.

M2 A

B: Yes. I couldn’t sleep well last night.
A: What happened?
B: The dog next door kept barking all night.

@ You look happy today.
@ You don’t look very tired.
@ You don’t look so good.

@ You're looking for something.

13 A: What time do we have to meet tomorrow?
B: The meeting begins at one, but we’ll gather at eleven fifty.
A: For what?

B:| 35 |

0 We're going to have lunch together.
@ We'll be talking for two hours.
@ Anything will do.

@ The meeting may be cancelled.



14 A: We've got a new kitten. She’s so cute.
B:
A: Why can’t you?

B: Because pets are not allowed in my apartment.

@ Ican’t come to see your kitten.
@ I wish I could have a cat.

@ I really like cats very much.

@ T'd like to see a picture of her.

15 A: Do you want to go skiing with us on Sunday?
B: I'd love to, but I have to work part-time.

A: OK.

B: I'll be available on that day.

@ We'll go again next Friday.
@ We're going to that ski resort.
@ We'll be enjoying on Sunday.

@ We're going one more time someday.
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